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Section A

Answer one question from this section.

1 (a) Study Fig. 1.1, which shows information about population change in Norway between 
January 1 and 30 April 2013.

births 14 168

deaths 11 363

immigration 18 948

emigration   9319

Fig. 1.1

  (i) The total population of Norway on 1 January 2013 was 5 051 275.
   Which of the following describes what happened to the total population by 30 April 2013?
   Tick one answer in the table below:

Tick 
(✓)

decreased

increased

stayed the same
 [1]

  (ii) Calculate the net migration for Norway between 1 January and 30 April 2013.
   You should show your calculations. 

  ......................................

 [2]

  (iii) Suggest three reasons why many MEDCs in Europe have positive net migration.

1  ........................................................................................................................................

 ...........................................................................................................................................

2  ........................................................................................................................................

 ...........................................................................................................................................

3  ........................................................................................................................................

 .....................................................................................................................................  [3]
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  (iv) Describe the difficulties faced by international migrants moving to and living in a new 
country.

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 .....................................................................................................................................  [4]
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 (b) Study Fig 1.2, which shows information about the population of China and Nigeria between 
1950 and 2100 (estimated).
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Fig. 1.2

  (i) Compare the populations of China and Nigeria between 1950 and 2100 (estimated).
   You should refer to years and use statistics in your answer.

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 .....................................................................................................................................  [3]

  (ii) Explain why birth rates are high in LEDCs such as Nigeria.

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 ...........................................................................................................................................

 .....................................................................................................................................  [5]
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 (c) For an example of international migration you have studied, describe the positive and negative 
impacts on the destination country.

  Name of destination country ................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 .............................................................................................................................................  [7]

 [Total: 25]


